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1. Introduction 
The document is to summarize the offline discussion on the open issues for overload. 

· Need to signal to HeNB behind HeNB GW (and RN) when all MMEs for a given PLMN are overload.
· Need an indicator to distinguish MME overload and PLMN Overload for a HeNB behind an HeNB GW (and RN).
2. Offline discussion

2.1 A MME overload for a given PLMN
Need an indicator to distinguish MME overload and PLMN Overload for a HeNB behind an HeNB GW (and RN)

1/ Yes: Samsung, ALU, NEC, LG; No: Huawei.
2/ By now, companies don’t object the issue from technique view:  the UE RRC setup request for non-overloaded operator is rejected incorrectly when its S-TMSI indicates the same MMEC of the received GUMMEI in overload msg.
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The S1 setup response for all cases is the same. PLMN list= (PLMN-A, PLMN-B, PLMN-C). MMEC list = (MMEC-1,MMEC-2, MMEC-3). How CN deployment is transparent to HeNB behind HeNB GW.

After receiving an overloaded GUMMEI related to (PLMN-A, MMEC-1), according to the legacy behaviour, HeNB reject the RRC request with the MMEC-1(in S-TMSI). 

For case1, the MME-1 node is shared by multiple operators. the UE’s RRC request for non-overloaded PLMN-B is also rejected. It causes mis-operation and bad UE experience.
2.2 All MME overload for a given PLMN
Need to signal to HeNB behind HeNB GW (and RN) when all MMEs for a given PLMN are overload.

1/ Yes: Samsung, ALU, LG, NEC
·  If HeNB understands MMEs are not all overloaded for a given PLMN, HeNB can release the UE RRC connection for the given PLMN with a release cause “Load balancing” . UE’s the new RRC request includes neither S-TMSI nor GUMMEI. UE can be redirected to another MME which is not overloaded for the given PLMN.

· If HeNB understands that MMEs are all overloaded for a given PLMN, HeNB applies ACB. 
 2/ No: Huawei, Ericsson
· Because the non ran sharing case is not supported. 

· When one MME is in overload, HeNB should start to reject.
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The S1 setup response for all cases is the same. PLMN list= (PLMN-A, PLMN-B). MMEC list = (MMEC-1,MMEC-2, MMEC-3, MMEC-4). All MMEs are overloaded for PLMN-A.

Even all the GUMMEIs of a particular PLMN were included in the overload start message, (PLMNA, MMEC1, PLMNA, MMEC-1), HeNB still cannot know whether All MMEs are overloaded for PLMN-A.
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